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Koneru Humpy has become the first Indian in history to win
two medals in the World Blitz Chess Championship. She
scored 12.5/17 to win the silver medal. She missed the gold
medal by just half a point.
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The Academy of Letters of Brazil (ALB) has elected poet-
diplomat 'Abhay Kumar' as the Corresponding Member of
the Brazilian Academy of Letters during its plenary session
recently.
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India's Rudranksh Balasaheb Patil won the Men's 10m Air
Rifle event at the ISSF World Cup 2023 in Cairo. He defeated
Maximilian Ulbricht of Germany 16-8 in the gold medal
match to win the top prize.
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Bombay Stock Exchange has appointed Sundararaman
Ramamurthy as MD and CEO. Sundararaman Ramamurthy
joined as the Managing Director and Chief Executive Officer
of the exchange with effect from January 4, 2023. He has
been appointed for a tenure of 5 years.
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Kolkata-based private sector large bank Bandhan Bank has
appointed cricketer Sourav Ganguly, former captain of the
Indian cricket team, as its brand ambassador.

Bandhan Bank was established in - 2001,

Chandra Shekhar Ghosh, CEO of Bandhan Bank,

Bandhan Bank Headquarters - Kolkata.
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Karnataka Bank and Paisalo Digital Limited, a non-deposit
taking NBFC registered with Reserve Bank of India have
entered into a co-lending arrangement to provide financial
support to the small income segment and give impetus to
the micro and small enterprise segment of the country. have
entered.

Deputy Managing Director of PaisaloDigital Limited —
Shantanu Agarwal
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Cristiano Ronaldo has signed a two-and-a-half-year deal with
Saudi Arabian club Al Nasr. Recently he left the Manchester
United club. Prior to Manchester United, he was with Real
Madrid.
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Recently India has joined 'The Agriculture Innovation Mission
for Climate' initiative. The Agriculture Innovation Mission for
Climate is a joint initiative of the United States and the
United Arab Emirates.
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Ministry of Tribal Affairs and Amazon collaborated for
Engineer of Future programme. The program will empower
teachers and students in the field of digital education. It will
also link digital communication with people living in far-flung
areas.
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Chhattisgarh Chief Minister Bhupesh Baghel announced

unemployment allowance for the youth from the financial

year 2023-24 during the Republic Day speech.
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Researchers from Pune have discovered 1 low-lying basalt
plateau in the Western Ghats of Maharashtra. It is an isolated
flat-topped steep hill. This discovery was made from Manjare

village. They are laterite bedrock at higher and lower
altitudes and basalt bedrock at higher altitudes.
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A:B+C
2 :5
A BT YT =2/7x1050=300 3.
Ques 73. ANS (B) Solution:
30 EfRal H FA TS

=30 x 160 = 4800 &H
I 10 wrefFal 1 Fa e

=156 x10 = 1560 &4
40 TRl i o e

= 1560 +4800 T, = 6360 FH.

it e Y s =6;g°

Ques 74. ANS (C) Solution:

AN PF Q& FA MG = 15x 2+ (5+5)
=30+10=40 3%

3 P, QR 1 Fd 371 = 3 x 20 = 60 T4

3T R it SH = (60 —40) =209

10 919 &I R &1 39 =20 + 10 = 30 94

Ques 75. ANS (D) Solution:

=159 9=t




W13y’ -3(13)
13J13-3J13 = 10413

Ques 76. ANS (B) Solution:

(2.697 — 0.498)2 + (2.697 + 0.498)?

2.697 x 2.697 +0.498 x 0.498
sEfa = 2.697,b = 0.498
(a—b)?+ (a+d)?  2(a®+b")

a? + b? (a2 +b?)
Ques 77. ANS (A) Solution:

(rl!-—ll)-’.-—rlb)_( a®*+ b +ab )_ 1
al - ¥ (@ — b)(a? + ab + b%) a=b 11-—-9

Ques 78. ANS (B) Solution:

Ques 79. ANS (B) Solution:
< | QU I A =
T
1
X _—_—_mﬁmm>

3
25
= 500)((1 —5—06)

mme

19 19 19
Ly 19 19 19 _ 412868 wirex
= 500% 552501 20

Ques 80. ANS (C) Solution:
AT WRE | Y F T AR
(A : 7Ei =12 e UM A A g F R A TE
34 3 )
S5x+10

3x+15
15x+30=12x+ 60
15x = 12x=60 - 30
3x=30
x=10
W H el Hiel HI A
S5x+3x=8x
14 = 8 x 10 = 80 THex
Ques 81. ANS (B) Solution:

T = 180 .
T = 40 + 32 = 72 i e
5

7 72><ﬁ =209t/ 4.

g =72

180,
g = %_wm

e - 30 Yo 5 T A 0 3 o wden TR
TR ¢ I A Bl AT © | ‘
Ques 82. ANS (A) Solution:

2
3

(A) W =R & foremera #t gt = x fft.
et wd | S H o anafas a9

(5w
T Wi & R T A a

Ques 83. ANS (C) Solution:
2‘-‘.: =124
gy 22+r=28
2x-y=4 (1)
qq x+y=5 ..(ii)
wHrEToT (i) F (i) |-
3x=9
x=3
LRl y=12
_;[y = 3 X 2
=6
Ques 84. ANS (C) Solution:

124/124/12.... =7

uﬁm@h%nwﬁﬁs‘ lﬁﬁlr_s':l'ﬁﬁ%&mﬁ continueﬁ%?‘ﬁ
& 1S BT (12) B GHRT IR BRI
Ques 85. ANS (B) Solution:
v g = S0 ] — A oy
= =g
WA A€ x U9 A 1 a9 e
lOOO—xx

x 100

25
z X
x = 4000 — 4x
x + 4x = 4000
5x = 4000
x =800 U™
Ques 86. ANS (C) Solution:

. s e e
/e % = g x 100

=3=3100
5

100

=%><100 - 40%

Ques 87. ANS (A) Solution:
md=md, +mydy+mydy + ...
40%x40=40x10+35x 10+30x10+25

x10+20x 10+ 15%xx
1600 = 400 + 350 + 300 + 250 + 200

1600 = 1500 + (15 x x)
T FE = 15 xx=100

x= 6% fEa
s Fa A = (5% 10)+ 6%: 56%&1

Ques 88. ANS (C) Solution:

Many; x Hour; = Many x Houry
20x14=35x=

x = 8¢

Ques 89. ANS (D) Solution:




A%w B it €.t D
1., & %

2\1\

'\6 .9 ‘
18: 36 : 48 : 724 3:6:8:12
At B i@ s DR E
3: 6 8 : 12

12, 543

356 e 8w 120 w13
Ques 90. ANS (D) Solution:
W H =
¥ 3 2

7
TH H HE = 3% 729 =567 fireh.

2
ﬁﬁw;§x729=|62faﬁr.
567 7

162+x 3

=162 +x=243

x =81 e, »
Ques 91. ANS (D) Solution:
5:7:9
57d9HIAY. =315
315 = 1260
1=4
Y TSI UG- = 9 x 4 = 36
Ques 92. ANS (A) Solution:
12,15, 20
6,15,10
3,15,5
1,5,5
1,1,1
2x2x3x5
qul a7 S & fo7T 3 9 5 T SeT &1 81|
2x2x3x3x5x5=900
Ques 93. ANS (A) Solution:

[ ]|

.= 1200 %.
fagwa = 1440 T.
=4 a4
= = 1440 - 1200 = 240 %,
TaF! T TE o Frepers ot e Ewa ¥
=1 % 100
= T T
240x100
= 1200x4 ~
A W=5+3=8%
1200x8x 4
= __IOO =3847%.
19 gy = 1200 + 384
= 1584 %.

Ques 94. ANS (A) Solution:

cosb=

wlw
x| >

435 il
sinf-cotd 5 4 20
2tand 4\~ 8
oF) 3
S
~ 160

Ques 95. ANS (D) Solution:
HATAR &t 3nfte & =z

1
et it i =01 Ffto= 1000 Tito

T, TR &1 H1Ia4 = el &1 AIaA

(5 y 27
3 1000000
Ques 96. ANS (B) Solution:

feram -

z= x 1000000) = 367tz

(r+h) =37
Ao gE = 2reh + 2mr? = 2ar(r + B) = (277 % 37)

2rr x 37 — 1628

Exgxrx 37 = 1628

e 1628 = 7
22 % 2% 3T

ide r — Teteraen (v + h) — 37 @9 h — 30

&0 1 9T = wrth = {? x T x T x 30) iof = 4620 7o

Ques 97. ANS (C) Solution:

87-[16-{65-(54-43-20H  =87-[76- (65-(54-23)}]
. =8.7-[7.6={6.5-3.1)}]
=8.7-[7.6- {34)]=8.T-42=4.5
Ques 98. ANS (D) Solution:
-+ 100% = 50000 ¥9T

- 16% = ( xla)wu;:sooowz

100
Ques 99. ANS (A) Solution:

- e w =g v wfoea = 26%
- 100 % = 360° g

360
- 26% = 700> 26 =93.6

Ques 100. ANS (B) Solution:
aviree e

(23-20) 300
= 20 XIOO £ %- =15%




